9x2 + Axy +16)” = (Bx + Cy)* & 1), o8 TEoH= Al A5
A, B, C 9| &g F59?

O 28 @ 29 ® 30 @31 ® 32

B ,

(Bx + Cy)? = B%x? + 2BCxy + C?y?
= 9x2 + Axy + 16y?

B>=9, . B=3

C?=16, .C=4

A=2BC =2x3x4=24

L A+B+C=24+3+4=231




(2x = 3y) Bx +ay) & A ANA xy o] A7t -7 L o, y* o] A+

9

@ -1 @ -2 @—3 @ —4 ® -5

B

(F4]) = 6x2 — 9xy + 2axy — 3ay?
= 6x2 + (=9 + 2a)xy — 3ay?

xy ol Ag7F -70]12=

—-942a=-7 La=1

LY ASE 3a=-3x1=-3




3.

ot 5 11 Aol §4] gk AL

D 972 = (100 — 3)% = 100% — 2 x 100 x 3 + 32 = 9409
@ 51x4.9=(5+0.1)(5-0.1) = 52 — 0.12 = 24.99

® 3012 = (300 + 1) = 3002 + 2 x 300 x 1 + 12 = 90601
@ (VI+ VB)(V2- VB) = (VD)2 - (VB)? = -1
@)(-VI0- VB (VI0- 3) = (VIO - (¥ = &

B

® (- V10 - V2)(V10 - V2)
- V2 - VI0)(- V2 + V10)




4. ol RO A2 4 7x + B Q47 x 8, 3x-2 D ), A4 B
of g o2

@® 3 @ 6 @0 @—3 ® -6

B )

Ax?> +Tx+ B = (x+3)(3x - 2)
Ax?> +Tx+B=3x>+Tx—6
A=3, B=-6

L A+B=-3




—

x—2y)(x -2y —4z) - 1272 o] AlF7F1
Bajd off, T A4 9] g2 F5HH?

D 2x-4y+4z @)2x — 4y — 4z

@ 2x+4y+4z ® dx-2y—4z

Q5 Ao Foz

® 2x-4y+3z

B

x—2y=A¢=sHH
A(A— 42) - 122 = A~ 4Az — 122
= (A-62)(A+22)

= (x—2y—62)(x -2y +22)
L (x-2y-62)+ (x—2y+27) =2x -4y — 42




6. o Fx%-y?-2x+2y 9 Al ALY

® x-2 @ x+y @x—y

@ x+y+2 ® x-y+2

(x+y)(x=y)—2(x-y)=(x+y-2)(x-y)




® x*+1




8.

F O 2 —ax-18, 2 —x + b & FF

a+b 9 gh& Fstof=th

?_10

A7 x+2 4 o,

x?—ax-18= (x-9) (x+2)
—a=-9+2,a="7

22 —x+b=(x+2)(2x+q)
q+4=-1,g=-5
b=2x(=5), b=-10
“a+b=-3




9.

O|ZHA] ax? +30x+b & YA FA 2 T2 H (Cx+3)2 <,

o gre Foa?

ol W

N |

b

a+c

ax? +30x 4+ b = (ex+3)> = *x® + 6cx + 9
=a=c? 30=6¢c, b=9
= a=25 ¢=5 b=9

b 9 9 3

A —— = === g 5




FHIA ¥ —dxta, 20 -bx -9 S FEY AT x-3 02t D
o, Y 2] 52 ek Fshi?

O x-2 @)3x+2 ® 2x-3

@ 2x+1 ® —x-1

¥ —dx+a=(x-3)(x+k) =x*+ (k- 3)x - 3k o|T}.
TeEfA k-3 =-4, k=-1, a=-3k=3°|B&
x2—4dx+3 = (x-1)(x-3) oJt}.
2x2 —bx—9 = (x-3)(2x + m)

=2x2 + (m — 6)x — 3m °]t},
webA -3m=-9, m=3, m—6=-b, b=3 °|EZ
2x2 = 3x -9 = (2x+ 3)(x - 3) °|th.
Uz A4E9] FS (x - 1) + (2x + 3) = 3x + 2 °|th.




11.

O|ZHA ax? +bx+c¢ & A2l k=t Wae x & AlFE EX Hal
=°14]

2x+ 1) (x=5) 7F HAL, AYFole Ao4da &X Hi E01A
(2x 4 5)(x = 3) °] HAct.

tha 5 x> + Ax+ B & &7 = Esft 227

@(2x—5)(x+2) @ 2(x+1)°
® (x-2)(x+2) @ (x-2)(x+3)

® (2x-4)(x+5)

2(x+1) (x=5) oA AT -102 BA B},
= (2x+5)(x = 3) oA x o Al -1 ZA B
A 2x% = x—10 = (2x - 5)(x + 2) °|t}.




12, thgo] Fol7 BFg ol gstol 412 A9 AA7tF 9] Yol 2 vhehy
G o AALP O 7R B AR o7t E & Q= AS BF
=Y

PRI PRI T~ Y T~
¥ ¥ I O
l\ l\ ,-.'E~\ ,-$~\ 1
—— = ]
’ ’ -~ T~ 1
\ \ . T 1
= 0]
\ \ 1| |1 1@
DO x+4 @)2x+1 ® 2x+3
@ 3x+2 ®)3x+4

6x%+11x+4 = (2x+1)(3x+ ,
4) oo g AxZ ol Fhzet
A2o] Aol=3xra Shoxt1  2TH]
o]}, \

~-3p+4----""




13.

o7 4% 4 135+ 3 0] 3 ol 7h 4x + 1 Q) HAAAG O] WA

dol=?

DO x+1 @ x+2 @x+3

@ x+4

® x+5

94

4x%2 +13x+3 = (x +3)(4x + 1)
wiebd Rl ol x4 3 ol




14. thg Ao] SAATHY 0, 4% a o S Fotelet

(x+2)(x+4)(x+5)(x+7)+a

Ch "
| —

| 2
> A a=9

B

EN=(x+2)(x+7)(x+4)(x+5)+a
= (x2—|—9x+ 14) (x2—|—9x—|—20)—|—a

X2+ 9x=A 2 *|35IH

(F4) =(A+14)(A+20) +a
=A%2+34A+280+a
= (A+17)% = (2 +9x + 17)°

172 =280 +a

ca=9




sfofar.

o

x=2-v2 L, 2x2 -8x+4 9]

15.




16.

0<x<l, —2<y<-19 ), ohg AL 7heks] 5he?

V)2 4+ (x+y)2 —dxy - /(x -y

)2+ 4xy

@ —xy @Zx—xy
@ 2y —xy ® x—xy

® 2x+xy

B

Vx+ )2 —dxy = /x2 - 2xy +y?
= V(x-y)?
V(x—y)2+4xy = /x% + 2xy +y?
= /(x+y?eolBg
(EA) = ol +x -y - lx + I
=-xyt+tx—-y+x+y
=2x—xy
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@ 2(3x+2) + (2x—1) (3x+2)
O 2x(2x+1) - 3(1 + 2x)

© (x+2)(x-1)-2(x+2)

® x*—4x+4

@ 2x2+7x+6

o

0z
m m

v v v vvyVvyvyy
0
L

0x
i

0%
i
@ O®© © O

B

2
e

@2Bx+2)+(2x-1)Bx+2) =(3x+2) (2x+ 1)
O 2x(2x+1)-3(1+2x) = (2x+ 1) (2x - 3)

® x+2)(x-1)-2(x+2)=(x+2)(x-3)
@®x2—dx+4=(x-2)?

@ 2x%+Tx+6=(2x+3) (x+2)




18. 2(x+2)2+ (x+2)Bx-1)-(Bx-1)2 = —(ax + b)(cx + d) & T,

ab + cd & = Y (H, 4, c = FF)

@1 o3 ® 0 @ 2 ® -2

B )
x+2=A, 3x—1=B= X|&slH

2A% + AB-B? = (2A-B)(A+ B)
=(2x+4-3x+1)(x+2+3x-1)

=—(x-5)(4x+1)

sab+ed=1x(-5)+4x1=-1




19. 16— x2 + 4xy — 4y? = QASHEF|51H?

D (x+2y-4)(—x+2y+4) @ (x-2y+4)°
® (x—2y+4)(x+2y-4) @(x—2y+4)(—x+2y+4)

® (—x—2y+4)(x+2y+4)

B

16 — (x® - 4xy + 4%) =16 — (x - 2y)°

=42 - (x - 2y)?
={d+x-2y)(4—x+2y)




